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GMAT(K-8)

(Questions 1-4)

1. GENERAL MENTAL ABILITY TEST

mmss AL m:nc;ssr waeg
g%ﬁeéa 1-4)

Directions : Complete the following BRWIND 1 BRLITOE  TO3TF OINYOT

number series by choosing the correct 200393 033 mﬂg}g& 302, 3YAT 023

number from the given choices. BeednTd miarme?%) °
) 4 -

1.2,3,4,4,8,7,14,12, 2
1) 18
2) 19
3) 20
) 22

NN

2.1,5,11,19,?, 41

el
N 3 &

4. 215,72, 63,26,7,0
1) 125
2) 124
3) 120
4) 81



GMAT(K-8) N A A

(Questions 5-8) (Bn<> 5-8)

Directions : Find the wrong number in T AERNG: 2T S 3008000 3T

the given series. - o = & o
RO23,0DZ, BOTLROND.

5. 24,30, 42, 58, 84
1) 30
2) 42
3) 58
) 84

SN

6. 192,48, 16,8, 4
1

N

4
8
16

w

)
)
)
)

N
&

7. 81,9,121,11, 169, 13, 256, 15
1) 9
2) 11
3) 13
4) 15
8. 20,21, 25, 33, 50, 75
1) 25
2) 33
) 50
)

)

75



GMAT(K-8)
(Questions 9-12)

Directions: Under each given letter
series, four alternatives are given.
Complete the series by choosing the

correct one.

10.

11.

12.

1) bada
2) abdb
3) aadd
4) ddaa

I3t 9-12)

BRUWIND: 391 BRLTR B3RO
@33 3eednp Jow), TOITE ODNYIY,
3RET. FOOIPITI), SO B30,
TREDENRDA.

.ab_d_bb__b

Il_no_Im_op_mn

1
2

) mpml
)
3) nmpl
)

mpnl

4) pnlm

rs_u_s_ _

1
2) putu
3) prpu
4) ttup

trpu

)
)
)
)

rsp

b_d_de_ef_fg

1) decc
2) cdef
3)dcef
)

4) ccde
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(Questions 13 -16) @%ﬁ@o 13- 16)

Directions : The following Venn Diagrams TRHWBIND : 3 IUNT ST° WBINW

shows the relationship among the three 23 03933 DD STHREATIS

given objects. Indicate the appropriate gooégoc?dm 2 52375535 Jé% Z0W0THD
. : : L S o ! Q

diagram to show the relationship. 2 508553 TO03DT ngwm& .

©OOO
® &

13. Mammals, Elephants, Dinosaurs 15. Sparrows, Birds, Crows
TZIND, SR, @é?’sfeemcfﬁe;o ma'%ﬁ%, wgne;a, AN
1) A 1) C
2) B 2) D
3) C 3) E
4) D 4) F
14. Women, Mothers, Widows 16. Writers, Teachers, Researchers
TORRTL, TOHONT, DFHTH WIRMTH, I, HOZREGFIL
1) C 1) A
2) D 2) B
3) E 3) C
4) F 4) D
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(Questions 17 —19) B3N 17 -19)
TRWINE: 33 FPNI TINYY

_ Eeklentolelnieldlento) :’)ogﬁéﬁ%ﬂa/&@e@
are four groups of numbers/ pairs of ﬁo&%ﬁ%ﬁo/@gdmﬂ R oToRe S0
numbers/group of letters of which three OTONT, BRLH. VWYY R
are alike and one is different. Find the 2,00 0eS0D BOWOTTY, TRODTOTES.
2,00 [RY PIJFONT. YIFIONTORTI),
A,

Directions: In the given questions there

one which is different.

18. 1

19. 1
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(Questions 20 — 25) @%ﬁ@o 20 - 25)

Directions: Complete the givenanalogy  z5233Rsy: 2083058 TO3EODRLOT
. e
by selecting the correct answers fromthe o . IV, @O FINT

alternatives.
mmééojbm& TRPENRRDA.

20. 343:49::216:? 24. BDFH: ACEG:: QSUW : ?
1) 81 1) PRTW
2) 64 2) RTVX
3) 48 3) PRTV
4) 36 4) PRVX

25. BODQ:FSHU:: GTIV:?
21. 2/3:10/30::4/5:7?

1) JXLY

1) 20/50

2) JWLY
2) 40/50

3) KXMZ
3) 68/138

4) MZKW
4) 64/125

22. 8:256::9:7?

1) 81

2) 324

3) 343

4) 729

23.1/4:1/8::2/3: 7
1) 1/4

1/3

1/2

1/6

w N

)
)
)
)

4
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(Questions 26 —29)

Directions: The following questions are
based on the given diagram below in which
each figure represents a group.

26.

27.

4
3 /2

Educated employed youths are
represented by the number

mdxaéeﬁ:é am6503 oS;ow%stool
T2ARTT 50936

1) 2

2

w

) 3
) 4
) 5

SN

Unemployed Educated youths are
represented by

ad:z:?.@ﬁen ;smsms O30 TFTY,
T2ART 50936

1) 1

2) 2
) 4
) 5

A W

(IB,nsd 26 - 29)
BRWRND 183 IYNT TJND, BRLITOT
g 30T, TONR TS WY BRWRT
MOOTIR), SPORT.

28.

29.

Educated Youth
éamédoé 032033

Employed Youth
OB RLRT C3oTI

Unemployed Youth
ATLRBEN OBOTTTH

Unemployed and not educated
youths are represented by the
number

amﬁsosdgd adod.@écn omssqu
T2ART 503936

1) 1

2) 2

ol

5
6
Employed youths but not educated
are represented by the number

&g 0 Caelevsla emd;ascm;p omw%dﬁoel
TEARIT 50336

1) 2

N
w

w

)
)
)

N
N O
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(Questions 30 - 32)

Directions : Choose and substitute the
correct set of signs in place of = sequentially
selecting from the given alternatives to
make the equations meaningful.

30. 34«6 +x5=%4

1) =, x, +
2) =+,

3) =,— +
4) -, =+

31. 8% 3% 16+ 8

1) +, =, +
2) - +, =
3) +, -, =
4) x, =, +

(Questions 33 — 34)

Directions: In the given equation find
which of the following interchange of
signs/numbers would make the equation
correct.

33. (10 + 6) + 6 = 24

(I3,ns> 30 - 32)

BRURNEL 1 BRLTHT/ FNEFTEIRI,

T TREF TWBED, ZRLTL OI0E3 2T/
REOsR), * PNTY TN STIEdRLIER
ROLVTI, TOIPE ODNYOT SOA.

32. 9%« 6«3 % 2

1) +,

w N

) - =
) X, +
) ot =
) kI

SN

@%ﬁ@o 33 - 34)

BRUWRNAT : BRLITOT FNeTTRTY OIS
af%éolri%/ﬁo&ﬁéﬁ%ﬂa’ncl LTI WTEN =T0&RTHN
R0eBTLd BOOIPNTOZTI DOLITIZY
FOTWLRBOWD.

34.8 - 2-10xX5=14

1) 10and 8
2)
3)
4)

—and x
2and5

+ and x

10
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(Questions 35— 40)
Directions: Findthe missing number/letter
in the given matrices.

35. 25
3 6
4 3

36.

37.

40 36
5
5

1

@%ﬁ@o 35-40)
BRUIN BRLDR JINIINGY Wead
FNOISA IOV xogjé/@gddmol FOTWLRCID.

38. 8

3

12 36

E L=

39.

I & m

E L=
< c 4w

SN

40.

- 3 =

—

s L2
- X <

\o}
—_

18

4

8 N &

r x &

I ~ o

15

6

?
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(Questions 41 - 42)
Directions : Read the following questions
carefully and find the answers.

41.

42,

Rikitha was born on August 229,
Prakruthi is younger than Rikitha by
10 days. If the Independence day of
that year was on Tuesday, which day
is the birthday of Prakruthi ?

1) Tuesday

2) Wednesday
3) Thursday
4) Friday

Ratio of Shashank’s age to
Prashanth’s is equalto 4 : 3.

If Shashank will be 26 years old
after 6 years, the present age of
Prashanth is

1) 11
2) 15
3) 14
4) 13

12

(FBRsd 41-42)

BRWRND: 85 IR Inetdm JJNRYR,
RRBRLD 80, BE3ROT BJJNe
NZTTR, TOBIEROND.

41.

42,

OdZ0 &R, 22 ToW WRARE. TF3
WT[YNOZ 10 DT WI[H. ¥ IRFT
MTOZ,, DTOUTH SONTTTTOD
B3, TF3oh TvrpTY CIBE DRTOTD

3Te0T TP TFeOT'T [CHAN WHTo
4 :3 %; THTNG. 6 [IFNY [0ST
30BN [N 26 TRENTTT, TR
TFeoBT T O, ?

1) 1

N
—
(6)]

w
—
o

4

)
)
)
) 13
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(Questions 43 — 46)

Directions: Study the following
statements and answer the questions
given below.

1) A and B play Football and Hockey.

2) Cand D play Badminton and Cricket.

3) B and C play Cricket and Football.

4) A and D play Hockey and Badminton.

43. Who plays Badminton, Football and

Hockey ?
1) A
2) B
3) C
4) D

44. Who plays Badminton, Football and

Cricketis
1) A

2) B
3) C
4) D

45. Who plays Cricket, Football and

Hockey ?
1) A

) B
) C
) D

A W N

46. Who does not play Cricket ?

N —

A
B
C
D

o=

13

(BBt 43 - 46)
AeusSnsh: S5 WOOOT BeLINIR), WO
I FINT TR, G0IOR0.

1)
2)
3)
4)

43.

44,

45.

46.

D DB W FEFLRST I T
STTV0.

BB B IR 0L 0B
3BT ST,

2 B A FHET DB TS
STWTVT.

D DB, B Tod B

23R, WO SlelchleX

mécé@aoo&ae, PEFROT DI T3
w@ssm& IRy BTHI]T ?

1) 2

2) ¥
3) &
4) &
méwfaoo&as, PEFRST DI
BBEF SRTRDIRT BT ?
1) 2

2) ¥

3) &

4) &

3B, PEIRST DI Ted
BEITORTRT O3Sy ?

1) 2

2

w

)
)
)

SN

STRTRATOT wﬁg o3RT ?

~— = ~—— ~— UL
D8yl 9ra

AN =g
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(Questions 47 - 50) @%ﬁ@a 47 - 50)
- . o
Directions : Identify the number of ARUR: B9 SoLI00w Weneg Res

specified geometric shapes in the given S%80® SFENY TOLOBI,
diagram and mark the correct answer. TORERIWD, YOITH/IY, MITISA.

47. How many Triangles arethereinthe 49, How many Rectangles are there in

given figure ? the given figure ?

39R SRy BBICHNY O, 39R SRy BFI0NY AT,

LDRAER ? Eobh3Ines ?
1) 14 1) 10
2) 16 2) 12
3) 18 3) 13
4) 20 4) 14

48. How many Trapeziums are there in
the given figure ?

891 RLDT BYIHY

50. How many Squares are there in the
given figure ?

% 3UR BRLITHT WBIOHO) O
SReNiess 7 Pees 2

1) 10 1) 12

2) 15 2) 13

3) 16 3) 14

4) 18 4) 15

14



GMAT(K-8)
(Questions 51 —55)

Directions: In the following questions a
word is written according to some code.
In each question a word is given and find
how this can be written in the same code.

51. If JUICE is coded as QFRXYV then
CAT can be written as

JUICE 0o mwm‘i QFRXV Q0%
Bo%eSz02T3 CAT Q0w msmq
%CR WBCHWIBOT®.

52. If BEAK is coded as ornx, then the

word CHALK can be written as
BEAK 0w wwsm‘i ornx QOTH

1033302333, CHALK Q0w wzswsoq

%C WBCHWIBIT®.

B3;n<> 51 -55)

BRWINDL: 85 IINT TINY 2.0
TIBDY, TOFEST LPRODY WIODONT.
VTR, wde Modeds RoRY IJer
2TODWTIT DOLNTI, FORLRD
TOITF ODNRYY TSR

53. fHORSEis coded as 8,15,18,19,5
then ELEPHANT can be coded as
HORSE oW msmq 8,15,18,19,5
DO BoFe2302303 ELEPHANT Q0w

BRI, e oSBT
1) 5,12, 5,15,8,1, 13,20
2) 22,15,22,11,19,26,13,7
3) 5,12,5,16,8, 1,14, 20
4) 5,15,5,11,19,26, 13,7

54. IfHOUSE s coded as 68, then what
will be the code of RENT ?

HOUSE xow mwmd 68 NoTH
1033302333, RENT o200 ITT
node3[e ?

15
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55. If ACCOMMODATIONis coded as
1224554318647, then the word
ADDICTION can be coded as

ACCOMMODATION 202 wdqu
1224554318647 20T 03330313
ADDICTION 2020 SwR™, &ent
TOFCS[RTOIT.

1) 133647628
2) 122628647
3) 132628647
4) 133628647

16
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(Questions 56 — 59)

Directions: In the questions below the

numbers in the figures are related. Identify .2 sRs9)3y3 o038 2RO
their relationship and find the missing 0 2 2

numbers in the given figures.

56.

57.

58.

(B3, 56 - 59)
ZRuBn: B YR LS TINCY,

RORIOTITIY, RRWAIT. 83 RO 0TI,
WX 3FTY 2D BRENTOI 50@3237'1%30l
FOTDEBCD.

14

13

59.

80

56

15 4 8

Lol
&N o

N
N
(6)]

12

16

21 |11

13

o=
& 883

10

_ )
14 )
)
)

5 121

17



GMAT(K-8)
(Questions 60 —62)

Directions : In column—1|words are given.
Their codes are given under column — |l
following the same order as in column —|1.
Find the codes for the letters of words in
column — | and find the codes for given
words in the questions.

(I3, 60 - 62)

Reudne : 0% — 13 891 TERYR, BRLE.
8 BENY Rosesne, xoi IS dn
$R40. B RoFeINT TERIYDS SFONR
ODIDTNS. Hog — | ST I
©3OROT 0BT/, FoBLATD TS
0T TTHOR RoFeT[IY, TS

Column - | Column - Il

3085 - | 0% — I

CAKE O A X:X []

LIFT <D Q} D,

ROAD SI2N A

NOSE Q AN O []
60. LAND 61. KITE

)

1)<DD/\
2 P DA A
TOYAN A%
4)<DAA

1)X:X Q} []
2XX < u
3)X3X Q} [l

4)X§X|:|<I>IZ

18
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62. COLD

nO B O
20 LN P U
3)OA @ [
2O

19
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(Questions 63 — 65) @%ﬁ@a 63 - 65)
Directions : In the following questions, TRWNNE : B FINI ROSTD, AWRTBNED
one of the rules given below has been IR BRWTOT QONTNYY 0TI,

applied to the set of numbers, identify the =~ ©¥XRAZRORT. B8 ©F0HYTT FOIT
correct rule applied to set of numbersin ~ FWRTBNKD  VFTBRAZHOBIE  FOOIWT

each question. QODTT/I, TOTHEA.
. l. 2,080 030 B[RFOOT WIT
l. $ubtract twice the number from @ddd%@% 3353,
'ts square. Il. 2,03 R0, BRFE, Bt B0,
Il. Addthe number to its square. $e0QT.
lIl. Subtract two from twice the Il 2.0TD R08308 HTBETHOOW HTHI,
number. FLODONT.

V. 200 ﬁo&jéoda drﬁ?%é Slnte]

| SORTT), BRBAT.

V. MUItlplythenumberbthO. V. 2,03 %30@3033(?))3 STBEOOT
) > o

NESRCONT.

IV. Addtwice the number to its square.

63. 8,15,24,35

64. 6,12, 30, 42

65. 8,10,12,14
1

w

)
)
) I
)

20
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(Questions 66 — 69) @%ﬁ@o 66 — 69)
Directions : In questions given partofthe ~ BeRRw: 85 YNNI TINYY B
figure is missing. Identify the missing part 2.0t gRN WTREIF NG, OTW,

from among the given choices under each @33R0 TJOD IR BRI ToeY

question. TOITOF ODNPOT TSR,
66. J
1) 2) 3) 4)
67.

4)

4)
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(Questions 70 - 72) @%ﬁ@o 70-72)

Directions : Inthe questions giventhere ~ ZRuRR: 30L3T0T TINYY, Teadne
are figures/words to the left of the mirror ~ 2TWHNRTIR WBZ/TTNE TIE D
indicated by lines and their mirrorimages ~ ©30WNRTR, WOLRNTY ZRTWSONT. &4
are given in one of the four figures/words ~ TWLPNTIDR TV /FTT FOOINT
to the right of these lines. Find the exact ~ @Feo TSWOB/R, ERLITOT SORNLOT

mirror image of each figure/word. BOTEEBON0.

G @ W2
1) 2) 3) 4)
=67 [@ @ &

1) 2) 3) 4)
. NOAINAL

77 7 7 7 7T 7T

n )] OgMBl™ 2N/ 0RMA L
3 IORMUL » NORMAL

22
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(Questions 73 - 75) @%ﬁ@a 73 -75)
Directions : Inthe questions givenhowa  ZR®IND: 2LE IWNYY 2.0 TNTT

sheet of paper is folded and punched is =~ TOFODI, DR TOF [PRWIT, 3¢
shown by figures. If the paper is unfolded T SRCOAT. THT TIFODT, WRATON
O TBETt FOENTT DOLOTRY, TR,

how does it appear ? Select the correct
TO3TF CINPOT ejoﬁ% R08.

answer form among the alternatives given.

"® @

3

. Q) ° ° (] 9
fo (o) o
o o o9 %o
o o o (e} o
O o () o,
1) 2) ) 4)

74.

-
75 - 3 5 T o
L] * -, -’ . o’
'0 \‘ ’ \‘ '0
¢ ., 4 ., ’
'0 “ 'O Q‘ 'O
Q‘ o’ .,
‘\
‘\
'
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(Questions 76 — 79)

Directions : The questions given consist
of series of figures which are incomplete.
In order to complete the series, select the
correct figure from the given choices.

I3 76 -79)

BRWRNL: 80iT0x TIFJRYY =7 eny
BeedoNT, BPBLRNT. BTN TREDF
Beedody. B8 TJONQ Jeedobay,

TRLRENRYIED @@éédad SR
TOSTE cdNYY 3603@55353&& @oﬁ% =R

76. X x .
- [ J
v ® |
v ® ® ®
X X + -
1) - 2) 3) 4)
77.
° AAAA ceoe AA
> < » —
AAAAA oo AAA XXX ?
o
A AAA > A > AA >
1) 2) 3) 4)

24
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(Questions 80 — 83)

Directions : In the questions there is
some relationship between the first two
figures. The same relationship holds good
for the second set of figures of which one
is missing. This missing figure is given
as one of the four alternatives. Find the
correct answer.

80.

A

2)

@%ﬁe}o 80-83)

BRWRAD : IR RLITOT  TE03ROWD
TBODYODR RHRTIT NTH ST ISNVN
TOLORT. BT FOWOTRY) NTBC WINE T
RO BENTIT. OB, BRWVYHOY.
B303ROTD TI oD IER TRLTHT Toey
TOIPE ODNTY FOCIPTTRY, SONTPA.

1 O

. )

3) 4)

81.

\vA
©
.

26
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82.

83.

@

=

. )

4)

3)

o——
— ‘)
—e °
>—e —
—d —4
o—i e

3) 4)
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(Questions 84 — 85) (I3,;n<> 84 - 85)

Directions : Inthe following questionstwo 2 e33Ry 85 297 3@ 837

figures (a and b) are given as problem . =

figures. Which of the following alternative (a 023 b)), Tge, BTN SHY.

figures would be formed if the first figure B WINIY [PTOIOH B,

is superimposed on the second figure ? PTEIOD 25T e FOOIRN [N
BREITVE JOIFODNTY 030 WIH)

= ?
Problem Figures : dagﬁgmid '

@mez WD

84.

a .

VO K K O
» N/ 1 2) 3) 4

85.

A2 AN A AT
b Y XY N\ Y

28



GMAT(K-8) N A A

(Questions 86 — 87) gﬁdﬁ% 86 - 87)

Directions : Ineach ofthe questionsthere ~ ZpuRRwW: 85 NS TINRYY

are four figures. Among these three are ~ ©B&odRoTTYoDw SR 73NV,
alike in some way, while one is different. VRN ﬁé% TR 2.0 0egoDY
Find the figure which is different. ATQ,BOND. STT 2,000 TR,

&Japs&mﬂd, 33 @@leﬁda@dm&
FOTIRCNO.
86. Q D
1) 2)
87.
1) 2)

3) 4)

3) 4)

29
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(Questions 88 —90)

Directions : Given questions are related
to Cubes. A sheet of paper as shown in
the figures is folded so as to form a cube.
Identify the faces and select the correct
answer from the four alternatives in which
the pairs of faces are opposite.

@%ﬁe}o 88-90)

BRUEIN 1 B3 YN BRLTOT  TJNW
TIFER FOWORATY). WO TWWNTT
m@?odma 28339 Se0ATWOE RN
T3, éodoso momdwméd 93T
mmmﬂa’n ﬁm&)mrﬂ @wm@amma
Me@mmm TLRODT em:a*d:)ab eso&a
VDI )

88. X 1>+ >< -, —. >, =
| 2) 4, > —
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90.
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Instructions to Candidates

1. The question booklet containing 90 questions and the OMR answer sheet is given to

you.
2. All questions are compulsory, each question carry one mark.

3. During the examination,
* Read the questions carefully.

e Completely darken/shade the relevant oval against question No. in the OMR answer
sheet, using blue/black ball point pen. Do not try to alter the entry and not do any

stray marks on the OMR sheets.

e Ex: In an question paper if SI. No. 3 is correct answer for Question No. 20, then

darken OMR answer sheet using blue/black ball point pen as follows.

20. @@ @ e @ (This is an example only)

4. If more than one oval is darkened for a given question, such answer is treated as

wrong and no marks will be given.
5. The candidate and Room Supervisor should sign in the OMR sheet.

6. Candidate should return the OMR answer sheet only to the room supervisor before

leaving the examination hall.

7. The calculator, mobiles and any other electronic equipments are not allowed inside

the examination hall.

8. English version of the question paper will be considered as final, in case of any

dispute arising out of variation in translated version.

9. In case of any dispute the opinion of the experts appointed by DSERT will be final.

TDRY : APLITT FTE ST SOAD S TOLFOD EVOPONTEY) TOOTES,
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PHYSICS

1. A body travels from ‘A’ to ‘B’ at

40 ms~! and from ‘B’ to ‘A’ at
60 ms~'. Then its average velocity
is

1) 50 ms'

2) 48 ms'

3) 0ms'

4) —2ms’

. If the velocity of a body starts to
decrease then the body is in

1) retardation

2) acceleration

)
3) displacement
)

4) speed

. Calculate the Kinetic energy of a
bullet of mass 2.2 gm moving with
a velocity 500 ms™.

1) 0.275J

2) 2.750J
3) 27.50J
4) 275.0J

4. A body does a work ‘80 J’ in ‘4’

seconds, then the power of the
body is

1) 10W
2) 20W
3) 30 W
4) 40 W

$eSTY
=

1. .00 BToNw) ‘A’ cwomw ‘B’ A

40 ms™! =3 ‘B’ owomw ‘A’ A
60 ms™' 3O w¥OTITTY. TMET WTT
TR0 Henwm)

1) 50 ms’
2) 48 ms'
3)0 ms’

)

4) —2ms’

. 2,000 WABT Jeny §erdHITHETN

@ ROPTOTLRT
1) 93069 ﬁeﬂraeéwF
2) deﬁfaeéwF
3) m&m@s
)

IN
E\Z

. 2.2 gm TFEOONE 20T MO

500 ms~! Jendeodr BODITT
VTS WORBIONTY, SFRT TR
1) 0.275J

2) 2.750J
3) 27.50J
4) 275.0J

. WOTH TONF) ‘4 FdorEnd ‘80 J’

eoxwmel TRTT B TOINT
m:nc;ss?g

1) 10W

2) 20 W
3) 30 W
4) 40W
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5. Which of the following waves give 5. 9N CIRT SR 20T TRFFHTY

series of compression and
rarefaction in a medium ?

1) Light waves
2) Sound waves

3) Radio waves

4) Electromagnetic waves

. Colour of light having minimum
angle of deviation is

1) Violet 2) Yellow

3) Red 4) Blue

. When light travels from vacuum to
water, which of the following

characteristics of light will remain

unchanged ?
1) Velocity 2) Amplitude

3) Frequency 4) Wavelength

. In the figure, an object is kept
between ‘C’ and ‘F’, then image of
the object is formed

]
2
3
4

in front of ‘F’

)
)at ‘F
)
)

at
beyond ‘C’

TORLTTED T TYING BTEIODRY,
QBT ?

1) 3938 dnw

2) 30T WSNW

)
3) BeRAdwee LBn
4) DTTHOSCO0D SloTatey

. OO 3REACH LRMHIFCL, BRONT

AL ws;aan
1) Sece 2) TSSO
3) %o 4) D

. B TSRO JeoR Joswedwen,

& FPTORBYNTY WIIT oInT
sG] fack) wﬁa%xme;%@ag ?

1) Jen 2) 30T QAT
3) w8 4) 3TON TRT

. BRYDHT UIRY womd IBWIF, ‘C’

2 P A¢ IRI aBoens.
SIS JSROWR)

]
2
3
4

‘F S 3003 emommgd
‘F 39 momméjﬁ
‘C 39 mommgd

)
)
)
) ‘C’ 0T ©8 YOS
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9. Inthe figure, the distance between

points ‘A’ and ‘C’ is

A B [\D /
WAL

1) X 2) 2A

3) 3% 4) 4%

10. Television Stations use

11.

1) high frequency waves only
2) low frequency waves only

3) both high and low frequency
waves

4) neither high nor low frequency
waves

Photocell converts light energy into

1) chemical energy

3

)
2) mechanical energy
) thermal energy

)

4) electrical energy

12. Expansion of the word SIM is

1) Subscriber Index Module

3

)

2) Subscriber Input Module
) Subscriber International Module
)

4) Subscriber Include Module

9.

10.

11.

12.

3RYTHT ¥ZRY ‘A’ 1) ‘C’ orhne
SRIT TeT

B n [

A C E
1) % 2) 22
3) 3% 4) 4

TRTTIET FCOTAL WETH)T

1) 3y =B 80D ITONNTD, IPE,

2) 3R BT B0H ITONNYT), [P,

3) Ty, W) FRX W[ SOoD
BTONNYTTEIA,

4) o*"ozf% Y BRI BT B0D
STONNYTTEIR, ¥Q

doséénw@ AR FZOITY, B

33BN TORSF ST,

1) TomPOHAT T

2) 0330087 I3

3) vy 3%

4) IE Y

SIM ITT HZTEEe SRIF)

1) Subscriber Index Module

2) Subscriber Input Module

3) Subscriber International Module

4) Subscriber Include Module
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13.

14.

15.

CHEMISTRY

This is the first milestone in
explaining the inner structure of
matter is

1) Dalton’s theory
2) J.J. Thomson’s experiment
3) Bohr’s experiment

4) Rutherford’s experiment

The deflection of anode rays in an
electric field when compared to
cathoderaysis

1) little
2) very little
3) more

4) large

Heavier the gas in the discharge
tube

1) more the deflection
2) lower the deflection
3) no deflection

4) larger the deflection

13.

14.

15.

dmoﬁaﬁmg

TRNY BOTLWRODT, WOCHOTY A
TFD Onepnd

1) @O f%w%oé

2) .2, powdE” Todeen

3) Bweo® Iadeen

4) DT FPRETE Tadeen

DWT B eITTWY '&@%&‘oﬁ@ﬁ
SRIITT PR 3TONT DO
1) 3R

2) 0w IRFN

3) I,

4) Do 6323%

DTBWET0 TYFONY WAVET Tod
BETIA,

1) QWO TS

2) DBOF BRF Q3T

3) LBV AWROY

4) DWOF B0 I
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16. In a neutral atom

1) The number of electrons outside
nucleus is equal to number of
positively charged particles in the
nucleus

2) The number of electrons outside
nucleus is not equal to number of
positively charged particles in the
nucleus

3) The number of electrons outside
nucleus is equal to number of
neutral particles in the nucleus

4) The number of electrons outside
nucleus is equal to sum of neutral
particles and positively charged
particles in the nucleus

17. The statement which represent the
postulate of Bohr model is

1) Electrons in each shell have been
associated with definite amount of
energy

2) The energy of an electron does not
remain constant as long as it
revolves in its own shell

3) An atom is indivisible
4) An atom can neither be created
nor be destroyed

18. The Relative molecular mass of HCI

is
1) 35.45 2) 53.45
3) 36.46 4) 53.54

16. Q3 3wT TTTPERISY
1) Wexdeodm BRONS STHRNY
ROS303N eRTEOTT wHNT TS
DWBOBT NN BRTINTOZTS
2) ewdeonn BTN ASTINY
BOBOIN WeBeoTT NS BT
QTRTHOTT BNV RDTINLROY
)weméeodd TRTND @@@mmﬂ
H0a3,03% WewIeOTH wﬁs
&%3@56 TNONR ARTNTOET
)weu%eodd TRONT faeﬁmmmﬁ
BOSZ0I WeTOTT wéﬂs 2uE3)
N @af TONON  ®OBY cps
DWTOTT FANOT FDDNTOZES

17. BRCTF THTOCH 53 mdﬁoﬁaﬁﬁ

B Tevdodn IS3ARDIB :

1) Tc3eomd FEORYTH m%gsf
2,00 OFF TOBWIEAT JFODI,
Gs¥olelaleNlcie

2) U & Iy, FIONY
ABETITHTA, %2@3%?@56 I3
%dmﬁda@@g

3) TT|WIVEVTI, WPFRILD AOPIY

4) TTRPERNTW, FRAFOR ATNY
TONR JOTTRILR mcssébg

18. HCI & modles @ Todod»
1) 35.45 2) 53.45

3) 36.46 4) 53.54
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19.

20.

21.

22,

23.

Gram molecular mass of CCl,, is :
1) 150.0 2) 154.0

3) 151.0 4) 155.0
Identify unbalanced chemical
equation in the following :

1) KNO,; — KNO, + O,

2) PCl,+3H,0 — H,PO, + 3HCI

3) CaC, +2H,0 — Ca(OH), + C,H,
4) 2C,H,+50, —4CO, +2H,0

The example for chemical

displacement is

1) 8Fe +Sy; — 8FeS

2) Zn+2HCI — ZnCl, +H,

3) NaCl+ AgNO, — NaNO, + AgCl
4) 2H,0 — 2H, +0,

The gas |liberated when

concentrated HCI is added to

manganese dioxide and heated
1) Oxygen 2) Nitrogen

3) Hydrogen 4) Chlorine

The following set of elements are
arranged in the decreasing order
of their reactivity :

1) Na, K, C, Cu
2) Na, K, Cu, C
3) K,Na, C, Cu
4) K, Na, Cu, C

19.

20.

21.

22,

23.

AT
CCl, 8 noo TTT5eces Todosw

1) 150.0
3) 151.0

2) 154.0
4) 155.0

8 ITNTRJYNYY TINTRNAITYT
5@:@%5:@5&4 .

1) KNO, — KNO, + O,

2) PCl,+3H,0 — HPO, + 3HCI
3) CaC, +2H,0 — Ca(OH), + C,H,
4) 2C,H,+50, - 4C0O, +2H,0

COTOCRT m@dﬁg&s% QT LVTTOTTR

1) 8Fe +Sy; — 8FeS

2) Zn+2HCI — ZnCl, +H,

3) NaCl+ AgNO, — NaNO, + AgCl
4) 2H,0 - 2H, +0,

Spenden’ & ¢ R ToodnI
ByRLeE[COT GIP[TY, Fedawen

RRNEBTMT A
1) sRWIB 2) TOTRIB

3) BORIT 4) 8Qe0T

B3 FUNT THOT BN, FOIOTEd
BT VwE FNTY EecRICNG.

1) Na, K, C, Cu
2) Na, K, Cu, C
3) K, Na, C, Cu
4) K, Na, Cu,C
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24.

25.

26.

BIOLOGY

In the primitive earth there was no
existence of life because
Atmosphere

1) was reducing type
2) was oxidizing type
3) contain molecular oxygen

4) was cool

Beta carotene and Folic acid are
called provitamins because they

1) Facilitate biochemical reactions in
our body

2) Keep the bowel movement smooth
3) Get converted into vitamins

4) Facilitate the proper functioning of
prostrate gland

Haldane called sea water a ‘hot
dilute soup’ because it consists of

1) complex organic molecules

2) simpler organic molecules

3) complex inorganic molecules

4) simpler inorganic molecules

24.

25.

26.

BT
=)

TNIET PRWONY WEINE LONTH
mzssmﬁadm plefaoliovpcpiselacks)

1) 9TIRFT 6@@033@?\33
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WeER %?238@@&3@69 2, Feeds®
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27. The union of male gamete and
Female gamete in the flower takes
placein

1) pollentube
2) embryo sac
3) ovary

4) stigma

28. The digestive juice that does not

contain any enzyme is
1) Salivary juice

2) Pancreatic juice

3) Intestinal juice

4) Bile juice

29. Since man’s Fore limbs are shorter

than hind limbs they are include

under

1) class mammalia
2) order primates
3) family hominidae

4) phylum chordata

10

27. TRIT B PNTY JTR DI 3¢
=

domrny Focdeen LVORNETE !
1) JTNSOE

2) BREROL

3) ©0wEOTOD

4) 30BN,

28. SR)Te 3EQTR, RRONTT 23¢e0TT
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30. The pigment present in the part of
the plant that are not exposed to
sun light is

1) carotene
2) chloroplast
3) chromoplast

4) leucoplast

31. The following statement is true

regarding Bacteria
1) The genetic material is RNA

2) The
pseudopodia

locomotory organ is

3) Genetic material is not enclosed
by a nuclear membrane

4) They do not have cell wall

32. If the producer has 10,000 units of

energy, then tertiary consumer gets
1) 1000 units of energy

2) 100 units of energy

3) 10 units of energy

4) 1 unit of energy

11

R 0
30. BB Ve :31‘533 AT D) mm%mﬂ

TOTH WTHT T[S
1) médmwm“

2) 3gedocTgr’

&

3) 3R neE’

&

4) ©RBIPCTRE
3 G

31. mégcamg xowoqswégsoé 33 FONS

RePE JWTNT. IPNY
1) ©B[odeod =T RNA
2) BOTVON WNFPIRT

3) ¥TVT0SEOD FAY TRETWER

2RTONOT ejwéémﬁg;)

4) BeR8ee3TY 3Re3YHE VTVFDY
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2) 100 PusRem) 33
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33.

34.

35.

The first forms of life developed in

the oxygen free atmosphere, they

obtained energy by

1) Oxidation of organic compounds

2) Decomposition of organic
compounds

3) Fermentation of organic
compounds

4) Synthesis of organic compounds

In a compound microscope if
magnification of eye piece lens is
20 X and objective lens is 50 X. The
object appears

1) 100 times larger than its actual
size

2) 1,000 times larger than its actual
size

3) 10,000 times larger than its actual
size

4) 1,00,000 times larger than its
actual size

The correct matching of Bacteria

and their shape

1. Comma

2. Spiral

A. Bacillus
B. Cocci
C. Vibrio
D. Spirilli

3. Spherical

4. Rod
C-1
C-1
C-3
C-4

B-2
B-3
B-4
B-1

D-4
D-2
D-2
D-3

12

33.

34.

35.
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36.

37.

38.

HISTORY

The call ‘Back to the Vedas’
was associated with the social
reformer :

1) Dayananda Saraswati
2) Rajaram Mohan Roy
3)

4) Jyothiba Phule

Atmarama Panduranga

The chronological order of the

following events :

a. Establishment of All India Muslim
League

b. Jallian Walabagh Massacre

c. Founding of Indian National
Congress

d. Division of Bengal
1) d,c, b, a 2)d,c,a,b

3)cdab 4) b,d,a,c

Examine the following statements
and select the correct option :

A) The dead body preserved by

Egyptians was called ‘Mummy’.

B) Generally all civilizations

originated in river valleys.
1) Alis true, B is false
2) Both A and B are true
3) Ais false, B is true

4) Both A and B are false

13

36.

37.

38.
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39.

40.

41.

The ancient part of the Vedas is :

1)
2)
3)
4) RigVeda

AtharvanaVeda
YajurVeda

SamaVeda

Western Coast : Malbar Coast : :
Eastern Coast :

1) Konkan Coast
2) Kutch Coast
3)

4)

Canara Coast

Coramandel Coast

Capitals of the following dynasties

in their correct order are :

A. Shatavahanas
B. kadambas

C. Gangas

D. Chalukyas

1) Srikakulam, Banavasi, Talakadu,
Badami

2) Badami, Banavasi, Talakadu,
Srikakulam

3) Banavasi, Srikakulam, Badami,
Talakadu

4) Talakadu, Banavasi, Srikakulam,
Badami

14
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41.

dcdr{eé@ @303 mmssmzsw% :
OTRFED 9CT
0NNICET3

1

)
2)
3) &
4)

wéa.‘n TOOWP : TOWTE 6T i
smw@

1) 32030 8¢T
2)
3)
4)

Syrhov

B3 &8¢0
300 &¢T
BRCETIVOBO 8¢T

FCTOR TOWWOINY TORGOIOIN
O3 I :

A. TOTTBID
B. 3002000

C. nonm®

D. 5008

1) 3593000, WTFoR, TOTHW),

ARINPIAY)

2) SOTON, WIDOA, TOTB,
ES-plalole

3) wT=DoX,
BOTO

4) 2OTOREY,

ARINPINN)

LTOBV0, WOV,

WTRO, HLFTVTOO,



SAT(K-8)

42,

43.

44.

45.

The thought “Knowledge is virtue,

virtue is knowledge” is associated

with :

1) Plato

2) Socrates

3) Aristotle
)

4) Phedes

The immediate cause for the first war
of Indian Independence, 1857 was :

1) Cartridges smeared with fat

2) The rule of law introduced by the
English

3) End of traditional industries
4) Low salaries for Indian soldiers

Identify the mismatched item :

A. St. Peter's Church — Architecture
at Rome

B. LastSupper — Painting

C. Pieta — Sculpture
D. Moses — Painting

1) A 2) B

3) C 4) D
Mrichchikatika : Sudraka : :

Mattavilasa Prahasana:
1) Narasimhavarman
2) Mahendravarman
3) Pulakesi - |
)

4) Keertivarman
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GEOGRAPHY AND ECONOMICS

46.

47.

48.

The best examples for the broad
leafed trees grown more along the
Mediterranean coasts are

1) Cork and Olive trees
2) Neem and Cashew trees

3) Grapes and Pine trees

4) Ash and Poplar trees

The largest salt water lake in the
world is

1)
2)
3)
4)

Lake Ladoga
CaspianSea
Black Sea

Lake Pulicat

The correct group of continents in

the descending order of their area

is

1) Asia, Africa, South America,
Australia

2) Asia, South America, Africa,
Australia

3) Asia, Australia, Africa, South
America

4) Asia, Australia, South America,
Africa
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49.

50.

The common currency used in the

Nations of European Union is

1) Pounds

2) Euro

3) Rubel

4) Yen

In group ‘A’ list of rivers and in
group ‘B’ list of continents related
to those are given. Identify the
group that matches:
A B

1. Volga a) North America
2. Murray b) Europe
3. Missouri c) Australia
1) 1-c
2) 1-b
3)1-a

4)1-b
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51. The water frontiers of Antarctica
are

1) Pacific Ocean, Atlantic Ocean,
Arctic Ocean

2) Indian Ocean, Atlantic Ocean,
Pacific Ocean

3) Indian Ocean, Pacific Ocean,
Arctic Ocean

4) Indian Ocean, Arctic Ocean,
Atlantic Ocean

52. The coast of Norway which lies in

the Arctic zone remains free from
ice and snow even in winter due to:

1) North Atlantic warm ocean current
2) Carebean warm current
3) Brazilian warm current

4) Kurasiwa warm current

53. The difference of 42 kms in the

polar diameter and equatorial
diameter of earth stands as a proof

for :

1) Inclination of earth

2) Geiod shape of earth
3) Elliptical orbit of earth

4) Rotation and revolution of earth

18
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54. The continent in which equator
passes at the central part :

1) North America
2) South America
3) Asia

4) Africa

55. Identify the correct statement :

1) Surface waves are highly
destructive

2) Secondary waves of earthquakes
can pass through solid, liquid and
gaseous matters

3) Surface waves of earthquakes are
the fastest waves

4) Primary waves of earthquakes are

the slowest waves

56. The physical and intellectual work
done in return for money is called :
1) Consumption
2) Production

3) Labour

4) Profit

19
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57. In Kolar gold mining is stopped
because:

1) We have decided to keep it as a
reserve

2) The gold found here is very high
quality one

3) The machineries used here are
very old and out dated

4) The gold is no longer available
58. The frist ship to circum — navigate
the world was :
1) Verginia
2) Victor
3) Victoria
4) Venicia
59. In 215t century the producers are
able to attract consumers from all
parts of the world mainly due to
1) Banks giving loans
2) Electronic advertisement media

and tele markets

3) Privatization and Nationalization
of Industries

4) Production of sub standard goods

60. Identify the statement which

increases the ‘green house’ effect :

1) Conservation of forests

2) More use of wind power and solar
power

3) Controlling emission of poisonous
gasses

4) Use of underground source of
water
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POLITICAL SCIENCE & SOCIOLOGY

61.

62.

63.

There is no state citizenship in
India. Indians acquire their
citizenship not on the basis of their
place of residence or the province
(state) that they belong to. This
type of citizenship is termed as

1) Single citizenship

2) Duel citizenship

3) Provincial citizenship

4) Multiple citizenship

Among the following who were
considered as the first people to
give ‘politics’ the status of an
independent science

1) Egyptians

2) Babylonians

3) Indians

4) Greeks

Identify the merit of Democracy
from the following alternatives

1) Conducting elections is expensive
and time consuming

2) Defections have resulted in

unstable governments

3) Decisions are taken after debate

and discussion

4) Lengthy procedure is followed to
make laws
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64. Voter must produce his/her

65.

66.

Electoral Photoldentity card (EPIC)
or any other document specified by
the government at the time of
voting. The main objective of
introducing this type of procedure
is to

1) verify the voting age

2) preventimpersonation

3) make corrections in electoral roll

4) provide an opportunity to vote in
all the places of his convenience

Importance of 1955 in India is

1) The First General Election was
held to Parliament

2) Fundamental duties

incorporated

were

3) Fundamental rights were granted
to citizens

4) Citizenship Act was enacted by the
Parliament

The organ of U.N. in which ‘veto’
power can be exercised ?

]
2
3
4

Security Council
Secretariat

International Court of Justice

)
)
)
)

Economic and Social Council
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67.

68.

69.

70.

India is a sovereign nation. The
meaning of this is

1) There is no discrimination between
the rich and the poor

2) All religions are treated as same
and equal

3) The people elect their
representatives to form the
government

4) We are free to make our laws and
no country can interfere in this

A case suitable to be presented in
the Consumer Court is

1) not providing admission in the
school

2) not providing suitable employment
in a factory

3) cheated by a merchant by selling
a defective material

4) cheated by a money lender by
charging higher rate of interest

The form of society that is
considered as the oldest is

1) Cattle rearing

2) Hunting and food gathering
3) Farming society

4) Industrial society

The event responsible for
introducing the disarmament treaty
was

1) Indo — Pak War

2) Indo — ChinaWar

3) ColdWarbetween USA and USSR
4) Iraq—Iran War
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71.

72.

73.

MATHEMATICS

The difference of two numbers is
1400. On dividing the larger
number by the smaller number, we
get quotient 3 and remainder 12.
The smaller number is

1) 436
2) 572
3) 634

4) 694

The number which cannot be the
square of a natural number is

1) 15876
2) 12321
3) 12242

4) 11664

The mean weight of 10 persons
increases by 2.5 kilogram when a
new person replaces one of them
weighing 60 kilogram. The weight
of new person is

1) 85kg
2) 62.5 kg
3) 48.5kg

4) 25kg
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74. A trader purchases 20 kg rice at

75.

76.

X 25 per kg and 30 kg rice at X 30
per kg. He mixes the two varieties
and sells at X 35 per kg. His profit
percentage is

1) 25%
2) 30%
3) 35%
4) 40%

The sum of present age of father
and his son is 60 year. 6 year ago
father’s age was five times the age
of his son. After 5 years son’s age
will be

1) 12 year
2) 14 year
3) 16 year
4) 19 year

Ravi starts from his home and
drives 38 km to North and then
52 km to South. How far he is now

from his home finally ?
1) 90 km
2) 52 km
3) 38km

4) 14 km
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77. A number when increased by 15%

78.

79.

80.

becomes equal to 414. The number

The value of

a+b )a—b

b+c )b—c to

(X % (X c+a )c—a

equalto:
1) Xa+b+c

2

X (X

w

) X
) O
) 1

N

The area of rectangular field is 180
square meter and its breadth is
12 meter. The perimeter of the field is

Three solid cubes of sides 1cm,
6 cm and 8 cm are melted together
to form a new cube. The edge of

the cube so formed is
1
2
3
4

) 15¢cm
) 14cm
) 9cm
)

7 cm
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81.

82.

83.

84.

Two consecutive numbers is such
that two-fifths of the smaller
number exceeds two-ninths of the
larger number by 4. The two
numbers are

1) 15,17
2) 25,27
3) 35,37
4) 45,47

The perimeter of a parallelogram
is 42 cm and the ratio of adjacent
sides is 3:4. The sides of
parallelogram are

1) 3cm, 4 cm
2) 6cm, 8cm
3) 9cm, 12cm
4) 12cm, 16 cm

The set of numbers that could
possibly be the lengths of the sides
of a triangle is

1) 2.5,1.5, 4
2) 2,10, 15
3) 2,5,7

4) 2,3, 4

Three exterior angles of a triangle
are 120°, 140° and x°. The value of

27
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85.

86.

87.

then the value of ‘X’

|fL:_Vg8
V50 x

is

1) 3542

2) 70

3) 7042

4) 80

In what time the simple interest on
a certain sum is 0.15 times the

principal at 10% per anum rate of
interest ?

1) 10year
2) 12year
3) 15year
4) 20 year
162 when expressed as an

exponential number with base 4 is
equal to

1) 474
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88. The simplified form of (0.7)2 — (0.3)?

89.

90.

In the adjoining figure
/ABD =135° and ZBCE =125°.

Which among the given options is

true ?
A

0
135"’7/\0

B s ao\
E

1) AB>AC
2) AB<AC
3) AB=AC
4) AB =BC =CA

Hari was given a discount of 12%
on a book. If the actual price of the
book before discount was X 400,

the amount of discount is
1) 348
2) 60
3)X72

4) T84

88.

89.

90.

AT 00 0
(0.7)2 - (0.3)2 B %3¢ CH

1) 0.4
2) 0.04
3) 0.21

4) 0.49

20 2RYHT WY LABD =135°
=983 «£BCE=125°. @Jaégso‘oa’
8303%71%302 BRI T, ?

A

y %/\

By

C
E
1) AB>AC
2) AB<AC
3) AB=AC
4) AB=BC =CA

TOR wow RFIT e 12%
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1) T48
2) 60
3) 72
4) T84
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Instructions to Candidates

1. The Question Booklet containing 90 questions and with the OMR answer sheet is given to you.
2. All questions are compulsory, each question carry one mark.

3. During the examination,
¢ Read the questions carefully.

e Completely darken/shade the relevant oval against Question No. in the OMR answer sheet,
using blue/black ball point pen. Do not try to alter the entry and not do any stray marks on

OMR Sheet.

* Ex: In an question paper if SI. No. 3 is correct answer for Question No. 20, then darken OMR

answer sheet using blue/black ball point pen as follows.

20000 @ @ ®@ (This is an example only)

4. If more than one oval is darkened for a given question, such answer is treated as wrong and no

marks will be given.
5. The candidate and Room Supervisor should sign in the OMR sheet.

6. Candidate should return the OMR answer sheet only to the room supervisor before leaving the

examination hall.

7. The calculator, mobiles and any other electronic equipments are not allowed inside the

examination hall.

8. English version of the question paper will be considered as final, in case of any dispute arising

out of variation in translation version.

9. In case of any dispute the opinion of the experts appointed by DSERT will be final.
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Nov-2013 NMMS GMAT Key answers

Key

Q. No.

73
74
75

76
77

78
79
80
81

82

83

84
85

86

87

88
89

90

Key

Q. No.

55
56

57

58
59
60
61

62

63

64
65

66

67

68
69

70
71

72

Key

Q. No.

37

38
39
40

41

42

43

44

45

46

47

48

49

50
51

52
53

54

Key

Q. No.

19
20
21

22

23
24
25

26
27

28
29
30
31

32

33

34
35

36

Key

Q. No.

10
11
12
13
14
15
16
17
18

* one marks awarded to all the candidates

Nov-2013 NMMS SAT Key answers
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Revised Key Answers

Nov-2013 NTSE GMAT Key answers

Q. No. Key Q. No. Key Q. No. Key Q. No. Key Q. No. Key
1 4 11 4 21 2 31 2 41 3
2 2 12 3 22 4 32 4 42 1
3 3 13 1 23 3 33 3 43 4
4 1 14 2 24 1 34 4 44 2
5 2 15 4 25 4 35 2 45 3
6 3 16 3 26 3 36 3 46 1
7 4 17 2 27 1 37 1 47 4
8 1 18 lor3 28 2 38 3 48 2
9 3 19 4 29 3 39 2 49 1
10 2 20 1 30 4 40 4 50 e

Nov-2013 NTSE Language Comprehensive Test ( LCT ) Key answers

Q. No. Key Q. No. Key Q. No. Key Q. No. Key Q. No. Key
1 2 9 4 17 3 25 1 33 4
2 3 10 2 18 1 26 2 34 3
3 1 11 1 19 4 27 4 35 2
4 4 12 3 20 2 28 3 36 4
5 3 13 4 21 4 29 4 37 1
6 2 14 4 22 1 30 3 38 2
7 3 15 2 23 3 31 1 39 1
8 2 16 3 24 2 32 2 40 2

* one marks awarded to all the candidates
Nov-2013 NTSE SAT Key answers

Q. No. Key Q. No. Key Q. No. Key Q. No. Key Q. No. Key
1 4 19 1 37 2 55 4 73 4
2 1 20 2 38 3 56 3 74 3
3 2 21 3 39 2 57 2 75 2
4 3 22 3 40 3 58 3 76 4
5 2 23 3 41 1 59 1 77 3
6 & 24 3 42 2 60 4 78 1
7 4 25 2 43 3 61 4 79 4
8 2 26 2 44 2 62 3 80 3
9 2 27 3 45 3 63 1 81 3
10 1 28 1 46 2 64 3 82 1
11 1 29 1 47 3 65 4 83 3
12 4 30 4 48 1 66 3 84 1
13 2 31 3 49 2 67 4 85 2
14 4 32 2 50 2 68 4 86 2
15 2 33 2 51 1 69 3 87 3
16 3 34 4 52 3 70 4 88 2
17 2 35 2 53 1 71 2 89 1
18 3 36 1 54 3 72 1 a0 4

* one marks awarded to all the candidates




Objections and Clarifications for Nov-2013 NTSE Examination

Sl no| Paper |Q.No. Objection Clarification
1. Which of the following rays will cause more damage to human body ?
1) X- 2)G 3) Bet 4) Alph
) r?ys ) Gamma rays ) Pf arays 4) Alpha rays . The question was asked in the context of
NTSE 1. Which of the following rays will cause more damage to human body When ingested ? . o
1 1 rays causing damage within the human
SAT 1) X-rays 2) Gammarays 3)Beta rays 4) Alpha rays .
L body but not out side the body.
The question is not properly framed and
Answer is 2) Gamma rays, butin Key ans it is given as 4) Alpha rays
18) (19*5) - (13*7) = Square root of 4 =2 or 4 dividedby2 =2 Both the answers are correct,
5 NTSE 18 (18*6) - (26*4) = Square root of 4 =2 or 4 divided by2 =2 Therefore, one mark is awarded for those
GMAT (14*8) - (32*3) = Square root of 16 =4 or 16 divided by 2 =8 who have marked
Therefore two answer for this question i.e, option 1)8 and option 3)4 option 1) 8 or option 3) 4
50) One evening you will go to market with your friend. There you will notice a person looking
NTSE suspicious and acting ion a strange manner. At this situation what might your appropriate decision ?
3 GMAT 50 |1) you will just alert your friend 2) You will leave the matket and come out One mark is awarded to all the students
3) you will call the police immediately 4) You will neglect that person
The question is vague
4) Which one of the following material has more refractive index ? . )
NTSE , ) In place of clay, the diamond is accepted
4 4 |1) Air 2) Water 3) Diamond 4) Clay
SAT . L . L as the Key answer.
The answer 3) Diamond ( refractive index =2.419 ) and in Key it is given 4) Clay (1.50r 1.6)
32) A mother who gave birth to a child in hospital complaints that her child is interchanged with other
child. The technique used to find her child is DNA Finger Print Technology and
NTSE 1) Germplasm Hybridisation Technology 2) Finger Print Technology Finger Print Technology are one and
5 SAT 32 |3) Recombinant DNA technology 4) Genetic Engineering same and Recombinant DNA technology
The answer should be DNA Finger Print Technology but it is given as is entirely different from the correct
only Finger Print Technology answer
55) India’s highest television tower is located at
1) Arvi  2)Doon  3)Pune  4)Pitampura Given Answer: (4) Pitampura
NTSE Correct Answer: Rameswaram TV Tower (323 Metres) The recommended text book supplied to
6 SAT 55 the students has mentioned Pitampura

There are other TV towers such as Fazilka TV Tower, Punjab (305 M) , Mumbai Television Tower (300
M), Jaisalmer TV Tower, Rajasthan (300 M), Samatra TV Tower, Gujarat (300M). Whereas, Pitampura
TV Tower located in Delhi is only 235 metres

being highest Television tower.






